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(=) & F#(CeH12O6)* F ¥ HHF 2 L2 # TR e £ - F R I G § 2
7 (O g helfie® chlffrr =23t » £33+ 023 g F =2 F L /52
firA 4 hCOenF £ 32t o+ € H(1.008), C (12.01), O (16.00) - [8 4 ]
(=) 7 P31 %2 A RE((NH)CO)Ed ™ 71 F Ji

2NH3(g) + CO,(g) —
% 628.5 g 1 NHg &2
(D)3 R oR— B F et 2
Qi+ 8 Lo g -
()7 % > 5. (Q)iE F1:# & (excess reagent) & * & ?
st g3 £ N (14.01) -
()& (CoH) i BER 1 £ 847 54 & 5 (CoHua)*> 800°C T 414 4 :
CeHisa — CoHy + other products = %+ & ez 4 & 5 (vield) 5 42.5% > B2 7
Tehe ek i A2 48l g et 5 2 [5 4]

(NH2).CO(aq) + HO(l)
1149 g 7 CO, F & - [12 4]

T & #F(limiting reagent) ?
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3 L g (CO)eA) = iR 28 £ 22 (standard enthalpy
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(=) P #21 2 iE(Hess's Law) -

(=) e Ed 24

R ¥4
of formation) » % ¢ s : [10 4 ]
(1) C(graphite) + O,(g) — CO,(g) (AH®,, =-393.5 kJ/mol)

(2) CO(g) + ¥20,(g) — CO2(g) (AH®, =—283.0 kJ/mol)

F3t& 2t latm 2 25°C T & & 1 2CO(Q) + O,(g) — 2COx(g)=rp it (internal

:R=8.314J/K.mol [8 # ]
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(1) HBr 22 H,S ~ (2) Cl, 22 CBry ~ (3) 1,22 NO3™ ~ (4) NHg 22 CgHs

FiF P & g&(hydrogen bond)x 45 4177 7 fw —‘F'T g 21k A5 a8 g 4 P CH30CH; »

CH;~F ~HCOOH ~ Na* - [8 4]
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(- ) ¥[Co*1=0.15M * [Fe*] = 0.68 M #]*+ 25°C © » 33Eip| T 5| F &% ¢ §
: Co(s) + Fe**(aq) — Co?**(aq) + Fe(s) [10 » ]
21 E co2tico = —0.28 V; E pe2tjpe = —0.44 V
(Z)FTAT - FTH 25°CREEF T2 Ea=054V 3548
Zn(s)| zn?*(1.0 M)| [H*(? M) |H»(1.0 atm) [Pt(s) [15 4 ]
31 E gp2+zn = —0.76 V ~ l0g0.22=-0.656
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